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Use of calculator is not permitted.
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Question No. 1 is in three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write true/
false are given. Each question carries 1 mark.
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Question Nos. 2 to 6 are very short answer
question carries 2 marks.
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Question Nos. 7 to 10 are #ery short answer
Auestion carries 3 marks.
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Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
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Question Nos. 15 and 16 are short answer type questions. Each
question has an intemal choice. Each question carries 5 marks.
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Question Nos. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.
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Part-(A) Choose and write the correct option :
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(7)1
(®) 0
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The roots of the quadratic equation are :
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(37 2 (@ 22
(w) V2 (D -2
Arithmetic mean of ¥2 +1 and V2 -1 js -

(@) 2 ®) 22
© 2 @ -2
(sec?f-1) T AAR :

(3D cos?0 (@) cosec?6
(9) tan?6 (%) cot?@

The value of (sec?0—1) is :

(@) cos®@ (b) cosec?®

(c) tan®@ (d) cot?8
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If the interest calculation is done on quarterly basis in the fixed
deposit account, then the annual rate should be taken :
(@) half (b) one-fourth

(c) three times (d) two times

firg (2, 4) Frwiie W % frq Igufer & B 2
(37 e =qafa (%) 9 =guta
(@) W aguta (7) g4 =gute

In which quadrant, will the point (2, —4) li€ on coordinate plapes

(@) Second quadrant (b) Third quadrant

(c) First quadrant (@ Fourth quadrant
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Part-(B) Fill in the blanks :
() Sx+23R3x-2 FAm— M
The sum of 5x + 2 and 3x -2 willbe .
(i) VIEY TEYS F W @ —— g T
The corresponding sides of the similar polygon are ___.
(i) x-a8 W feom foredt forg Y ife —— B &
The ordinate of any point on the x-axisis .

(iv) Toren Iysx T R o wret &)

Educational cess is payable on .

(v) 9 w39 9 = 20 A @ 39 e uil

If the diameter of a circle is 20 cm, then its radius will be .

@us-( /) 99 / 3y fafay .
Part-(C) Write true / false :
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The number of space diagonals of a cuboid is four.
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The intersecting line of the circle intersects at three points.
(iif) sin 30° %1 HH —“é—i e
N

The value of sin 30° is -

(iv) aﬁqﬂﬁmﬁmmmmﬁmm%,
The sum of two odd numbers is always odd Number
(v) Tl Ix-4y=PHx=3 aihy:“@’qu

On puttingx =3 andy=4 in the equation T
of Pis 3.
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If the polynomial p(x) = 3xd - 4x2 4 17, then find the values of p(gl} and

(o).
afz v 10 15:25 %, @ x & °E 9@ Fifag

Ifv:10::15: 25, then find the value of x.
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Find the slope of the straight line 7x -2y — 15 =0 and intercept cut oD the

y-axis.

HA J1d ST :

2¢cos67°
sin 23°

+cos0°

Find the value of
2¢0s67°
5in 23°

+cos0°

A% 5,7,9, 11,13,15,17, 19 ] TR 4 A FifA

Find the arithmetic mean of the following data :
57,9, 11,13, 15,17, 19

af T A, faek e 4 d ¥

Construct a quadratic equation whose roots are 4 and 4.

AU S 494+ 13+ 15+ 5 12 T2 o ATHE T BT

Find the sum of 12 terms of the series 5+ 9+ 134+ 15+ e,

wE e F oI 12 A, qen S 14 A %r?“m*‘“’“f’*%mwt

The diameter of a cylinder is 12 cm and its height is 14 em, then fing (e

whole surface of the cylinder.



[6]

10 AR R R v e v o e s v s €l

Prove that the square of an odd number is an odd number.
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If the diameter of bas

€ of a cone is 14 ¢m and height is 24 cm, then find
the wh

ole surface area and volume of the cone.
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If the diameter of a sphere is 12 cm, then find the surface area and volume
of the sphere.

1 wiftoft =i ager T Fif ;

- UL 0-10 | 10-2020-30 | 3040 | 4050 | 50-60

3mgfa 9 17 | 28 | 23 15 8

Find the mode of the following table :

Class
Interval

Frequency 9 17 28 23 15 8

0—10 | 10-20|20-30 | 30-40 [ 40-50 | 50-60

Irerar
OR

foe Tfof ) wifre Fd Hiag :

st | 0-10 [10-2020-30 | 3040 | 40-50 | 50_¢9

p— 2 6 10 7 |3 >

llowing table :

Find the median of the fo

Class 0-10 |10-20[20-30 13049
Interval
4 | 6 | 10 ] 7 nn

Frequency




(71
- 01’(3"3';l
WA-13 RE A0 FIFMFRR W PO St 1afk £prO = 500 €, @ £

A 9 B |

PR

n
In figure, O is centre of a circle and PQ is a chord. If ZPRQ = 50°, the

find the value of ZOPQ.
R
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ABC T fay@ &, foi AD | BC, Tog wife fa
AB%2+ CD?=BD? + AC?

ABC is a triangle in which AD 1 BC, prove that
AB? + CD?=BD? + AC?
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Find the equation of straight line whose slope is %)- and passes through
the point (0, 5).
HYqr
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0 | 15|30 | 45| 60 | 75
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The simple int inci
P €rests on principal ¥ 300 at the rate of 5% per annum for

1,2, 3, 4 and 5 years respectively are shown in the following table :

Time (in year) 0 1 2 3 4 5

Simple Interest (in Rs.) 0 151 30 ] 45 60 | 75

Draw a graph between time and simple interest.
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Ram deposited ¥ 40,000 in Bank in fixed deposit account for 1 year at the
rate of interest as 10% per annum. If the interest is calculated for six month,
then how much amount will Ram receive after maturity?

He|r
OR.
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Mohan opened a recurring deposit account in a Bank for 5 years and
deposited T 100 every month. If the rate of interest is 6% per annum, then
how much amount will he get after 5 years?

o fs POR ¥ T FIRE 1 T B T 3R ABC fnw &Y =1 afsTg,
WAB=-§—PQ‘€H

Construct a triangle PQR. Also construct a triangle 4BC in which

2
AB=—3—PQ.
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AABC % wftma g1 =1 = Wi, fom e - oeo el
AB =5 . | = & W5 it feifla ) C=6%h, 25=10

Construct the circumcircle of a AABC in which BC = 6 cm. £ B = 70° and
AB =5 cm. Write steps of construction alsg, ’

FHiE T T i (TerE fafugw) -
4x — 5y =20 3R 3x+ 5y=15

Solve the equation (by graphical method) :
4x —Sy=20and 3x+ 5y =15

QT
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gfeg:b=c:d?, o0 fag Fifsu fF
a*+c* _ac
b*+d*> bd

Ifa:b=c:d,then prove that

at+c® _ac
bt+d* bd
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The angle of elevation of the top of a tower from a point on a ground level
is 30°. If on walking 20 metres towards the tower the angle of elevation of
the top becomes 45°, then find the height of the tower.
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fag *ifse &
sin@ . 1 +_c-osﬁ = 2 cosech
1+cos9 sin @
Prove that
sinB +l+cm‘.8'__2(:05“B

1+cosB sin O



